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FIRST MIDTERM
Version 1

There are multiple versions of this exam. You will be given a scantron to fill out. It is important that you:
e Fill out this scantron accurately and completely using a #2 pencil
o TIn“Special Codes” put your exam version number in column “A”

During the exam it is expected that you will always keep your answers for the exam covered. A failure to
cover your answers may be grounds for an academic misconduct violation.

During the exam it is expected that you will always keeps your eyes solely on your own exam. Violation
of this expectation may be grounds for academic misconduct violation.

Binary Choice Questions (20 points)

Multiple Choice Questions (60 points)

Problem One (10 points)

Problem Two (10 points)

TOTAL out of 100 points




1. Binary Choice Questions (each question is worth 2 points)
4 ) Hfle 1. A good that has low rivalry is a good:
st . .
ﬂ/’ “}h hat can be consumed by more than one person without affecting another person’s consumption of the
same good.

b. Where the marginal cost of providing another unit of the good is high.

4 | e 2. When the marginal external cost of the good is a positive value we know, holding eve?ghing else

constant, that this good involves a:
%mjhr \ Vi ./.F"‘Mfa(
@Nega?ive extema!ity. - ’ {"/ ME ,Maf
b. Positive externality. P ) -Y}(rf Jeot Fro

: . 3. A good that is both non-rival and non-excludable is a: e — R
Noherd: 3 Ae MSC o b left

Lef'm?'llM @Public good. gf’M Pe

b. Private good.



Answer the next two (2) questions based on the following information and matrix.

Consider the following matrix that represents Mary and Sam’s costs and benefits from contributing to the
provision of a public good.

Mary's Parspective

Nat Contribute Contribule

EIIDEENGESSIee? ‘E io Cost 1o Sam of good = $0 }11’2 MM\/ ‘K :]

Not Contribule Banellt to Sam of good = $0 Beneflt 1o Sam ol good = $12

Sam's Parspecthve Cost to Mary of good » $0 '? #0 Cost to Mapy af gaoi = 510 }J Bg \_x_,_/—]

n ¢ .
Benefit to Mary of good = SO Benefit tn Kty if gamt = $12

Cost to Sam of good = 520 }\L ‘8 Coti it Sam of gosd = £10 i ll\ ﬁ (.'-

Banelit to $am of good 2 512 Benelirto Sam of ot = 52

Cost 10 Mary of good = $0 }Tf‘z Cost 10 Mary of goxd = 520 "{T#L(

Banafit to Mary of good = $12 Benefit to Mary of good = 524

Contsibute

gﬂ\{ 4. Given the above information, Mary’s dominant strategy is to:

a. Contribute.
ot contribute.

'SdMé 5. If this information was presented from a societal perspective where the members of the society (in this
THOUGHT case, Mary and Sam) considered the marginal social cost and marginal social benefit from the good, then
the optimal societal outcome would be:

a. for Sam to contribute while Mary did not contribute to the provision of the public good.
(® for both Sam and Mary to contribute to the provision of the public good.

E A,SY 6. A good that is excludable but non-rival can be described as:

a. A COmMIMOoOn resource.
A club good.



Use the following information to answer the next two (2) questmn:“' W“’st ﬁeao&u.
- : o m. ond g Lo Suming MOV
Assume that Susan and Jane are the only consumers of online moviesj Susan and Jane are addicted to

watching movies online. They have very different tastes so they can never watch a movie together! They

both respect movie copyrights and therefore they pay for every movie they watch online. The demand

functions of Susan and Jane for movies this year are given by the following equations where P is the price

per movie and q is the quantity of movies den"landzl: SUSAN p fng f Mt
- J
Susan: P =40-—2q \ »
Jane: P =20 l \D 20 ’ 2"I :
a Jo &

S()ME 7. Given this information, the market demand is: a4

B??‘;’f.’“g; (@ P =40-2q forP>20 and P = 20 for P <20
DﬁAw{Wé’ b. P=40—2q forP > 20 andP =60 —2q forP <20
[MAGCES Hueny

Suppose that they are only two websites, Moviesforyou.com and Cinemathrills.com that offer online
EA SY movie services to Susan and Jane. The supply curves for these two websites are given by the following §1 o=
equations where P is the price per movie and q is the quantity of movies supplied: 52 Mkl
&nmdimﬂ{i

p Wx&bﬂqg !

Moviesforyou.com: P = 4 + 2q Tl = % ss &
Cinemathrills.com: P = 2q y ¢ |- t
L < A
¢ . .. . . , ) R 7t Q LN
vl o 8. Given this information and holding everything else constant, when the online movie market is n

WorK equilibrium Susan will watch movies this year, while Jane will watch movies

this year. P v < P+
pict - F = O0F N
a 810 Iy D G G +e ;—7'0—&'1’2
10; 8 ! t=2

(.4 ]

z l"\) (9 ‘LJC@" lO = SMU’ Weo US P.‘:lz' ¢>
EAS )’ 9. Which of the following goods exhibits low riva.h‘-}? ! ‘30— Mt Dem “)3; 220
= Mt Su»rpb‘
a. A hamburger from McDonald’s Mt Dewmard M
@A public beach in the off season.

o e -
%S) . 10, Consider the following graph where M€ is the marginal pﬁe’cos’c, MPB is the marginal private
D-Eﬁ diTiod benefit, and MSB is the marginal social benefit. i P Pz20 =D
Price of the good s $USM.' Q_O’/ ‘fo— 2%
20 =2
¢ < 1 ﬁ &“’%u

Ms8 J'u_u % Pﬁ‘- 2_() - é’aL IZL‘LLA
“H'\LV‘w+ 6{%1 MANTTD? =

Quantity of the good g Md\( 'U

mpg

This graph depicts the situation where there is a:

Positive externality.
. Negative externality.



I1. Multiple Choice Questions (each question is worth 3 points)
SME _ 1L Consider a public good. How many of the following statements are true? " W'}Z{}‘;}
THOVGHT - A ,wl“‘“
e The non-rival nature of a public good results in the free rider problem.” [T ¢

'F- The non-excludable nature of a public good results in the marginal social cost of providing the

public good being equal to or very close to $0.
T Sincea public good is yon-excliie¥fie market demand curve for that public good will not reflect the

true demand for the public good: the true demand will be a curve located to the right of the

market demand curve. S mkt demard £ T demand baeceuse gord & AM’WJ'J“H‘

T- » Since a public good is non- sival . firms will be reluctant to supply the good.

T l—r)ﬁymrwfuchmrﬁ ypole) The G/ St 7&7)1)5-,

gloamien oo vl > 4 2L il pri 3 e 3400
c. Three statements are true. frmf ik W'HJ"L? i 5u14ra I)’ 5 ovd: /ﬂ )

d. Four statements are true.

t\foT 12. Consider the single price monopolist depicted in the graph below. AS Sum T iemua[ Ve
HARD — And The MC cune Qe bt Ivear,

Price, P

Note both the MC and the Demand
100 curves are linear, The graph is not

L MC drawn to scale. ks t r

D: P= 100 £
_mcp=o

'a oumen MRS P=100 -Q
200 Quantiy, MR = MC 6" Tm@

30

This single price monopolist will maximize profits by producing:

a. Q =200/3 and charging a price of $200/3. gov = @ = ebininad
b. Q = 100 and charging a price of $50 per unit.
(©>Q = 50 units and charging a price of $75 per unit.

d. Q = 60 units and charging a price of $70 per unit. pr_h_cﬁﬁ



JoT HAWD 13. Consider a monopolist who engages in perfect price discrimination. How many of the following

EAY

statements are true for this perfect price discriminator?

1 e This monopolist will produce the socially optimal amount of the good.
T e This monopolist will expand the area of producer surplus by engaging in this behavior.
£ o This monopolist will create a deadweight loss due to the implementation of this behavior.
o Consumers of this product will pay more than they are willing to pay for this product when this
behavior is implemented. Lo ¢ pusumers w il pa maxwumhe

At waMﬁolo ay ~2 ﬁlcywﬁhd fay
#";aﬂ wm.hj fu/:ay

3. One statement is true.
Two statements are true. more Thin

¢. Three statements are true.

d. Four statements are true.

14. Consider a monopolist that can be described by the following information:

Market Demand for monopolist’s product: P = 100~ (1/2)Q
MC for the monopolist: MC = Q

This monopolist decides to engage in second degree price discrimination and the pricing scheme they
implement is to sell the first 50 units at a price of $75 per unit and then sell an additional 10 units at $70
per unit. Given this information and holding everything else constant, the value of consumer surplus in
this market is:

a. $625
b. 650

. 851275
d. $1250

(s = L (oo *?5)(56)': JZCzy.-;Lo) (¢o-50)

(5= & (an)Gs) + T



Use the following information to answer the next three (3) questions.

Suppose you are given the following information about a producer who sells their product to two different
classes of buyers, Class One and Class Two. The subscripts refer to the different classes: so Py is the price
paid by Class One, P2 s the price paid by Class Two, Qi is the quantity of the q *Y in the Class One
market, Q; is the quantity of the good in the Class Two market, and Q is the total market quantity.
cssl p Cser  p MK
Class One’s Demand for the Good: P1=10—(2/3) Q)
Class Two’s Demand for the Good: P2= 10 - 2 (0

The producer also has the following information: 2

O
Marginal Cost for the producer: MC = (1/4)Q KQ 5
Variable Cost for the producer: VC = (1/8)Q?
Fixed Cost for the Producer: FC =2

NoT # ARD 1G5 . Su;zlppsg ;his ﬁ1;1.n deci;le;ls ;g_act as a ';-:]I:'gle p]rice moxtmptolist and provide the good at a s-izl;.gle price.
jven this information and holding everything else constant: 6‘1"% frice MMJ]@I’ 1

: iy A= o) Q =46
. Profit for this firm will equal $‘lf0.)( Mi=D - P=10-"1Q 3 =

Total cost for this firm will equal $jo. v Véﬁ = ‘OYC— @ P‘?IO - &_C.E’): é:
¢. This firm will produce 13.3 units of the good.X MC =M TR = (=YK ,
d. This firm will earn economic profits of $12. X 5@ = 0-q TC=verFe=(3)8 +2
KR = Lf'o"‘f@ TC=> jo
Sopmiz 16. Given the above information and holding everything else constant, this producer, whether they price
rHOWGHTZ discriminate or not, will have maximum economic profits of: T =38
BUrUﬂr & §i0 MC= 2 ='> IE‘ 2PN
HIZ  ysat M= 10-%q,  MKasio- B
1 , @835 L = 10- %Q, 2 =l
e Tty 5Q - & e
Qi =
SOME 17. Given the above information and holding everything else constant, how many of the following
WoR g ~ Statements are true? f, =lo- -2 O Pz =10-2Q~

P,;ma-('?/?)(_(,):ﬂ FL'/Iﬁ-—-lfz-)':'-—é
THOOEHT T e [Ifthis firm practices third degree price discrimination, the result in terms of the price charged to
each class and the total quantity produced is the same as the result if the firm is a single price
monopoly.
T o This firm will not find that third degree price discrimination increases their profitability relative
to their profitability as a single price monopolist.
F e Ifthis firm practices third degree price discrimination, Class Two will pay a higher price than
Class One for the good.
r" e Ifthis firm practices third degree price discrimination, Class One will pay a higher price than
Class Two for the good.

a. Oue statement is true.
I'wo statements are true.

¢. Three statements are true.

d. Four statements are true.



Tlo ; . - iz ; -
DEH’“ 18. Consider a perfectly competitive market that is in long run equilibrium. Given this information and
holding everything else constant, how many of the following statements are true?

T e Each firm will produce the profit maximizing quantity where MR = MC.
T Each firm will have positive accounting profits and zero economic profits.
T e Each firm will produce at its minimum average total cost.

Te The areas of consumer surplus and producer surplus will be maximized.

a. One statement is true.

b. Two statements are true.

c¢. Three statements are true.
Four statements are true.

EAS ‘f 19. Consider a perfectly competitive market that is short run equilibrium. Given this information and
holding everything else constant, how many of the following statements are true?

T «  If short run economic profits are not equal to zero, then in the long run we can expect entry or

exit of firms to bring ecanomic profits to zero for each firm that is in the industry in the long run.
F e In the short run. the firm is a price taker and its price will equal its average tofal cost. P2MCh SR
F e 1 the short run, the firm produces the profit maximizing quantity by equating its MR to its

average costcurve. N MAY =) Produce Thad Me=mc
F e In the short run, the firm will select that output where the average total cost of producing the good
is at its minimum. frm m SK proelaets et @uitus Mt=MC

@One statement is true.

h. Two statements are true.
c¢. Three statements are true.
d. Four statements are true.

ﬁj\" 20. Which of the following situations is an example of 2" degree price discrimination?

Walmart offers Sam’s Club to those consumers who are willing to purchase larger quantities of the
good provided the good is sold at a lower price.
b. Movie Theaters offer different prices for seniors and students. 5{0
¢. Dell offers custom built computers.
d. Factory outlets sell out-of-fashion clothing at a discount. ¥



Use the following information to answer the next two (2) questions.

Suppose that Sam is the only HDTV seller in Madison. The average variable cost is constant at $200.
There is no fixed cost. Suppose further that each consumer may buy up to one HDTV. Furthermore,
imagine that there are 3 groups of consumers, high income, medium income and low income and there are
20 consumers in each group. Each of the high-income consumers is willing to pay up to $500 per HDTV
set. Bach of the medium income consumers is willing to pay up to $400 per HDTV set. Each of the low-
income consumers is willing to pay up to $100 per HDTV set.

NoT AP 21.1f Sam can perfectly price discriminate, what would be his maximum attainable profit?

$10,000

. $14,000
c. $20,000
d. $22,000

NaT~ MD 22. Using the information from the previous question, suppose instead that Sam cannot charge different
prices to different consumers but only one price. At which price should Sam sell HDTVs in order to
maximize his profit?

a. $300
b. $200

C? $400
. $500

L. Ave =207 = /. M(= 200

Fc=0
H"X‘ o’ QOCM.S{\'\NVI P’?W(Mu:f%/m,\/ #5?0/]‘/

hAsdalim Mmedme 20 cullowvert =2 Wluv?d~ PAY & qyon /TV
<.>M¢¢ MR ZMC = ﬁm wilnod sell A Lom ' cOML

2¢ @ P=50P = T = looe?e 7 z 20(200)

=~ 20 250 ) = 'fovo
— £ = - Sodo 7 < C
20@ e== W__’@_,——/l‘"

HYo00

1)

22 lfu yells af # UV = T = [0 67 - H0PD = 60U

([ ke Fells 6F i fov
40@ F= 4oy > T2> /6,062
40@47’6—’:24?3-‘—7 7T > Koago




Use the following information to answer the next four (4) questions.

A market is perfectly competitive with 10 identical firms. You are told the following information about
this market where q is the quantity produced by a firm, Q is the market quantity, and P is the price per

unit of the good: Ty P V17T
4 ¢ [
o

. i S

Individual firm’s Total Cost Curve: TC = 10q? + 2q + 250
Individual firm’s Marginal Cost Curve: MC = 20q + 2

Ly

2 2
Market Demand Curve: P =122 -2 i
? ol ()00
2 o8 1= . . . . ] . {o
60’/646 23. Given this information and holding everything else constant, in the short run: ‘/“d_g N PR
fomc @rhe equilibrium quantity in the market will be 30 units, and each firm will earn Total Revenue equal to

b. Firms will earn positive economic profits, and this will result in th¢ entry of new firms into the market
and the market supply curve will shift to the lef* 5qu+ FuaThe Wﬁf‘f ANSewess (3) !
c. The market supply curve will be given by the equation P =2 + 2QQ'and the equilibrium quantity of Cd) G/H- "
production for the individual firm will be 2 units.* =3 o prre fj&ﬂ

d. Firms will earn negative economic profits;and this W! | result in the exit of firms from the market and

the market supply curve will shift to the right X af Mlet-D = mESF S

S leff | 1TL-2@= 2+TQ
AU WOTRIC 24, Given the above information and holding ¢ erythit g else equal, firms in this market will earn zero <
NEE?&EI”F economic profit when they: [20 = 4@ I .
you READ 7 _ P 30 =
THE ( fpic& a. Produce 5 units of the good and they sell each unit!® r§100.  p= 24 2(%) b2

4 now b. Produce at that price where MR = MC for the firm{™ 5 doesnat Pt

@Pmduce at that quantity where ATC = MC for the fifl 1./ S,

et T
THE- 1 Produce 10 units of the gootf(and they sell each unit'o r $102. F"O &
obE suats ! 70
ol 25. Given this information and holding everything else & nstant except the natural adjustment that occurs
N in a perfectly competitive market in the long run, how maty firms will be in this industry in the long run?
HM Assume the market demand curve does not change. \ LP=62= Farm porratecies whkew pA€ = MEC

a. 8 firms N ‘2:105,2‘
b. 6 firms 60 =30
c. 4 firms

(i I RS RPN 1Y

LoTof 26. Given this information and holding everything else constant except the natural adjustment that occurs
Mo piclo ina perfectly competitive market in the long run, what is the value of Consumer Surplus (CS) and
65—[ Producer Surplus (PS) in the long run? Assume that any shift in the market supply curve will be a shift

o g! that is parallel to the initial supply curve that you found. s
/ 24, Frms earr Oecon FT whaa MC=A7C

uTNOT 4 CS =$100; PS = $900 B 250
?{m,&r @®)CS = $100; PS = $300 206427 10g+-2¢ g
rah e CS=5900; PS = 3200 . B
d. CS = $900; PS = $900 /0? i
= Ajj
§ ¢ 7%7/5’«‘5""7/:200:’)4'1
g = p=tor
=02 D

(=3

p
= 09> pejre-20 10, .
woe it 5 t7fped 82 P 2122 %%ﬂw.?@_
5 Yol fo=tO

N~ 1N o



511P:3-}-16) S 20+ %
must confam CQ,PJ=Q0,’O>'J
]c’r”‘ # 2y 2y

o2 =2(10) +1
[02 = 20+ ’€~

2 T

L = Cio -
cS = h(iza—y0r)l-o)
Cr= £ (20)(r0) = &/¢o ehmindes Ce) 7(‘0

ps= L (lo2-82)( #0-0) g
T el

_-(1/2%20%0) = 1°
NO RIGHT ANSWER FOR THIS QUESTION!

Cro) =8100
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Please use the following information to answer the next two (2) questions.

Suppose that Bob is the only TV seller in Madison. The average variable cost is constant at $20. There is
no fixed cost. Suppose further that each consumer may buy up to one TV.

27. Suppose that there are only rich people in Madison and there are 20 of them. Each is willing to pay up
to $50 for each TV. What should be the price of TVs to maximize Bob’s profit?
a. $20

b. $40
€ $50
d. $30

28. Instead, suppose that there are 3 groups of consumers, high income, medium income and low income
and there are 20 of them in each group. Each of the %=* willing to pay up to $50 for each TV. Each of
the mediumling to pay up to $40 for each TV. Each of the {2radis willing to pay up to $&5 for each
TV.If Bob can price discriminate in this market, what would be his maximum attainable profit?

a) § /0D
b. $ ibep
c. & eee
d. § 400

T £50 = TR=20(s0)= 19°°
H'IBA Medre pag s Te= 26(2)> Y

boo T from "‘d""m

MMNW/M/!‘ Y0 = r=r0(¥0) = §9°
7C= W) = “do
Yoo T fom Medik~ N dme

Lb)-« Tnedms /471‘ #25—=’) 7)7 2;-0(15') - 3,
7= 200) 190
/a0 7] 75'/«»4 /2205 + Y Cvna,

Mex IT &/ Prire P erminatrh = 6Gd+ F0O+ (T :’7//0%

11



AL f 29. Many elite private colleges charge different prices to students attending their institutions. The colleges
use this differential pricing scale because:

a. Students who have the potential to be future wealthy donors to the school will only attend if they pay a
rice below the average rate of tuition, X A/e p!rn‘f)- ﬂf f‘#z"ipay fud] fuitbn (¢ gt ord dmatorn rL
This pricing plan increases the college’s total revenue relative to charging each student the same price. /
<. The market for college-level education can be characterized as a perfectly competitive market since
there are many producers of this level of education.

d. The colleges have insufficient market power to charge the same price to every student. /—

Sd M () 30. Consider a market that has two distinet classes of buyers: Class One and Class Two. The demand
WWK — curves for these two groups of buyers can be described by the following equations where P is the price
o’ per unit and Q is the number of units:
Neét
Demand for Class One: P =12 —2Q
ﬂ/}p Demand for Class Two: P =6 —(1/2)Q

You also know that there is only one firm serving this market and that firm has no fixed costs and its
marginal cost can be described by the following equation:

£
MC = $4 - ;6); o)
Suppose this firm practices third degree price discrimination. Given this information and holding -
everything else constant:

a. The profit maximizing quantity for this firm will be 5 units of the good. X C\) =L/‘
@Class Two buyers will purchase 2 units of the good and pay $5 per unit. "]~ w{
c. Class One buyers will purchase the same quantity of the good as does Class Two, but Class One will
pay a lower price for each unit purchased.x @ 1 F‘E.J A2=2- J ﬂ = € Py = 5
d. The marginal cost of the last unit produced by the firm will be less than $4 per unit. Xme bo\{a,;[(m,:f- =
T ~
[ ~ Class Ot ' ~ Clas (v Mt

R

0
Fmc=y ifme= o MR =mC
MR, = M MR~ =M 3%t -t
[2-4G = 4 b-Qa = T 2 _aQ =20
S ~ 36—
g 2 =G o =48

e ()= € 12



III. Problems (two questions worth 10 points each)

1. Mandy is a supplier of dry cleaning services in her small town. She operates the only dry cleaning
service and therefore has significant market power. She knows that she has two types of clients: business
clients who come in regularly to have their clothing cleaned and non-business clients who have
occasional garments to clean. She knows the following information where Q is the quantity of dry

cleaning units and P is the price per unit of dry cleaning: L pP=s50-R
. /7 P = 100~ 2Q
Demand for dry cleaning services from business clients: Q=50-(1/2)pP ,%: P=120-@

Demand for dry cleaning services from non-business clients: Q=120 - (3/2)F ¢ = gy~ =qQ
MC of providing dry cleaning services: MC =25 + (13)Q

Fixed Costs of providing dry cleaning services: FC =10

Total Costs for firm of providing dry cleaning services: TC =25Q + (1/6)Q*+ 10

Suppose that Mandy decides to treat her dry cleaning business as two separate monopolies: one providing
dry cleaning services to business clients and one providing dry cleaning services to non-business clients.
She can readily identify the status of each of her clients since she has been in business in this small town
for a long, long time and she knows her customers well. (When Mandy decides to do this, she is making a
decision to practice third degree price discrimination.)

a) (four points) Given that Mandy is going to treat these two types of customers as separate entities, what
will be the profit maximizing price and quantity of the good in the market for her business clients? Show

Mrp: P= "1‘;_@1»'6'

how you found your answers.
B\)S p Non- ﬁOS f) Mt P = 15‘—-—';_@ - "f-’LC‘fsJ
MR = 75 -Q MCe25 13
. Mc= 40
] MR =MC k ™
4o Q-9 = 45 F 3@ \IfmC=49,!
o = 5@ pys class
BT | M 6o.3 Me=Mr2
| 3 ‘ =g v QAL - 1d0-4Q
il © 4y wa 45> QToTAL = 60
four points) What will be the profit maximizing price and quantity of the good in the market for he yos = I1Svacts
non-business clients? Show how you found your answers. - B Lact
}.FMC 240,3\100\«\‘ Bus c{;_;r Foft
MC=MR &
40 = |- 3 Opom-hus
_RQ=40
Ty Aot = Z0(-z)= 30 unils
\ %M«"‘*"‘" 80 - % (30)= P60 4y
¢) (two points) What will be Mandy’s total profits if she treats this market as two separate monopolies? ,J.br_
That is, what will be her total profits if she practices third degree price discrimination? Show your work. 73’5
ot -~ B2
L f 20015) + (49 | — [ a5 (4) KDUsYd 1o | o201 fR
T i ) 2850 ?E) 5 {*
; §00] . 50 ] 3o
TFWE”O* 00| . |j2¢ + 33750 hae 125

j&> R
TE 2850 — [432.C g1

_ 72.€
= #3335 R o

X2




2. Consider a perfectly competitive industry composed of six identical firms that produce widgets.
Suppose you are told that the representative firm has the following cost curves where TC is total cost
measured in dollars and q is units of widgets produced by a representative firm:

Total Cost: TC=4 +4q + q?;
Marginal Cost: MC =4 +2q

Suppose you also know that the market demand curve is given by the following equation where P is the
market price in dollars and Q is the market quantity of widgets:

Market Demand: P =19 —(1/2)Q

a) (two points) Given the above information write an eq uation for the market supply curve. Explain how
you found this equation. f

f Iy~ ¢
ARG i S

l ] ' 1) QA
b) (six points) Given the market supply curve you fo ind in (a), calculate the short run market equilibrium
quantity and price in this market. Then, once you have done your work, complete the following table:

Mkt g cmx+E
a gtof'é"c?rf}
* [P=5art

i

Short-run market equilibrium Quantity | vacts
Short-run market equilibrium Price B I1n/oni +
Short-run level of production by a representative firm 3 UnctS
Short-run level of profits for a representative firm LIy

0 Ecoihboriwm:D=S Pz FURY Tsg for frme M2-TC
16-UQ = Tt Pz fet =g s = Io(3)— [1+463)* 32]
(5= JiQ-*‘?LCQ mr =MC {)ﬂf’"ﬂ 3= BO"‘[LI"‘"l"T]
50 =7Q12@ =P o prudakngfi TR 5] = 45
|56) = 5Q 10=‘IL+LZ Tse= 3o - ([ J’
e = Q 6 =29
31
e) (two points) Given no changes in the firm’s cost curves or the market demand curve, how many firms
will be in this industry in the long run? Show how you found your answers.

LR T=0 ye o LR }fﬂ;ﬂ&)@oi?
Mc:f(:*é m LR p- [ﬁ-&ﬂzb
‘fl—'?,g = %“J—If"g g; lﬁ\'.?L,CQb

Z?.,;c./ 12: b - [l
_ =12
& & .
F:Z‘f{—z ﬁ;qcﬁmu{%%z
p=Ye2b)= FE T

#ﬂcﬁwsm: g
2 Louc n - n]f‘:?‘

PLe




